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ECONOMICS

Paper : ECO-HC-6026
( Development Economics—II )

( Honours Core )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :

1x10=10
O] PRI R @I w=orR e firy
(a) Define demography.
Togq e frdl |
(b) Gix@ one example of renewable
resource.
EEGE G e LRUID R ES Gl i i
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(c)

(d)

(e)

(9)

(h)

(i

1/}
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(2)

In which year was Paris Agreement on
Climate Change held?

@ oo SRy AR ¥R e srifire
2fRe ?

What is meant by land tenure
relations?

S g T e e @ T
Define public goods.
erEd] G99 5 e o

Give one key success factor of
governarnce.
P TR I3 AR FIRF 90! 137 |

State the meaning of individual
behaviour.

‘g SH9eE S A A1 |

Write one reason of urban population
growth.

o SR 3% 61 PR R
What is life expectancy?
SR SFE 9

Define crude birthrate.

meﬁﬁwﬁml

( Continued )

(3)

(k) What is population dependency ratio?

TPRIA ST Srpere e o 3@
() Mention one problem associated with
land.
S 5T FIS o1 T S 41 |
(m) Give one characteristic of social group.
HHIEE BT b1 ey forn |
(n) What is microfinance?
Ty w2
(o) What is meant by common property
resource?
SR TS T Iferca e 3o T 2
2. Answer any five from the following
questions : 2x5=10
Oo PR R G e e f

(a) Define sustainable development.

27N Taeq kel faa |

(b) How does population growth contribute
to the development process of
developing countries?

TRl (e SPRYT IR SR aferre
e sz cem 2
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(c)

(d)

(e)

(9)

(h)

22A/853

(4)

Write down two problems that have
been seen in rural credit market.

o0 4T TS CrR1 e o1 S fore o

Mention the major eras of globalization
in the last 150 years.

@M S¢o TS KA a4 RRSEOREE]
1 |

Point out two most common deficiencies
involving in governance.

P GRS @l T g R @ Soay
0

Give the definition of general fertility
rate.

YR SO AT A= g |

What are the functions of individual
behaviour?

o7 S64°H FRER fF 2

Mention two areas where developed
countries can help developing countries
to protect environmental degradation.

ARCITS SRS @y IR Ty

SR CPTR TRE R R 01 cre Sy
1 |

( Continued )

(S)

3. Answer any four from the following

questions :

worq epPTRd R e vifkee Te f

(@)

(b)

(c

(d)

(e)

22A/853

Briefly explain the relationship between
nutrition and labour productivity.

X SeeTeReTel S “{f8] qeq 0! b LT
e 41 |

Point out the main determinants of
good governance framework.

SRR TR Y37 R0 T 91 |

Explain the purpose of the study
of individual behaviour in social
environment.

HES AR Fog S6I9 FE FIR Sy
Y 30|

Write a note on financial instability
in a globalized world.

cERiee e ReH SRR e[ e dfbt GRr

o

What are the consequences of
migration? Explain.

e ofRafe o 2 1< <=
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()

(v

(6)

Explain the interrelationship between
economic activity and climate change.

geftifes I SF TR ARSTH qEe 27
SBTAECHT WRAT 4T |

What are the causes of gender
inequality in a family?

i foo3e foiker (W FRIER & 2

Explain the inter-linkages between
rural factor markets in developing
countries.

TAITNE (PIF AT AR IGREER &S 47
SBSHLCIIAICOT 0T 47 |

4. Answer any four from the following

questions : 10x4=40
o 2SIl B Sed i
(@) Examine the major contributions of

22A/853

agriculture to the process of economic
development,

WWWWWW@@W
“{JE] 41 |

( Continued )

(b)

()

(@

(e)
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(70}

Discuss how globalization affects
the commodity trade of developing
countries.

Ry SaEAe orR w9 difdere PR geR
CIfeIRCR, SICEDl 41 |

Explain the functioning of credit market
in a rural economy.

AT SRS 4 IH[I FR@IS 001 41 |

What is migration? What are the factors
that lead to migration?

e it & g2 B R e 7 1 ageE
SIS 2 2

Critically discuss the demographic
transition theory of population.

SRR GPRANTS @A ©ECH TSI
HRPICT HACoAT 941 |

Discuss various measures of land
reforms. How does it affect the

- productivity of agrarian society?

S viERe RfSa IREPHR Scewn w91 1 @2
JAEPTCR TP TS Seomeiieon 87w
CFCTEAI &SR CIeT ?

( Turn Over )



(8)

(g0 Discuss the factors which influence
individual behaviour in an organization.

R GOT® FOF WDITE SIS 91 IR
SCETAT 41 |

(h) Discuss the terms governance

in  organization and = community
governance.

RO P A TR NP @ PR R
SCAA A |

() Explain the connection between income,

mortality, fertility and human capital
accumulation.

SR, I, TR WFE Ao SRR
& ALCIICH! IR0 4|

() Explain the decline in the efficiency of
an organization in terms of Hirschman'’s
exit, voice and loyalty theory.

AR 2%, 59 W e 9% wRace
S9N GO TSl IR 2T #A73, T 364 |

¥ %k
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